

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

TAX INVOICE

CHINA TAIPING INSURANCE (S) PTE LTD 3 ANSON ROAD #16-00 SPRINGLEAF TOWER

SINGAPORE 079909

INV No. AC2007551

INV Date 11/11/2020

Reference CC6/CTI20006885/Kds3s2

Code CT

PROFESSIONAL SERVICE FEE

Vehicle No. SLC 5184L

Insured Veh. SLZ 6794Z

Claim No. SNM20D202306

Policy No. DMPCSNW00047952000

Accident Date 29/06/2020

Inspection Date 01/07/2020

Description	Total
Third Party Express Settlement	400.00
Subtotal	400.00
GST (7%)	28.00
Grand Total	428.00

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd

ISA



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internationale Des Experts En Automobile					
CHIN	HINA TAIPING INSURANCE (S) PTE LTD Ref: CC6/CTI20006885/Kds3s2					
3 ANSON ROAD #16-00 SPRINGLEAF TOWERSINGAPORE 079909		Date: 11-11-2020 Code: CTI				
1.		Policy Particulars	:- THIRD PARTY CLAIM			
	Insured Veh.	SLZ 6794Z	Veh. Inspected	SLC 5184L		
	Policy No.	DMPCSNW00047952000	Coverage (\$)	0.00		
	Claim No.	SNM20D202306	Excess (\$)	0.00		
	Assign From		Assign Date	01/07/2020		
2.		Vehicle Partic	culars & Condition			
	Make & Model	MITSUBISHI LANCER (A)	c.c	1590		
	Engine No.	HIDDEN	Year of Reg.	2016		
	Chassis No.	JMYSRCY1AGU004783	Colour	METALLIC GREY		
	Odometer	071485	Steering	IN ORDER		
	Brakes	IN ORDER	Modification	STANDARD ALLOY RIM		
	General	GOOD				
3.	Conditions of Tyres					
		Size	Make	Balance		
	R/H Front Tyre	205/60 R16	DAVANTI	9 mm		
	L/H Front Tyre	205/60 R16	DAVANTI	9 mm		
	R/H Rear Tyre	205/60 R16	YOKOHAMA	9 mm		
	L/H Rear Tyre	205/60 R16	YOKOHAMA	9 mm		
4.	1	•	on of Damages			
	THE VEHICLE SUS	STAINED DAMAGES AT THE REA	AR O/S PORTION AND FRO	NT PORTION.		
	DAMAGES SEE DI	ETAILS.				
5.		General	Information			
	Accident Date	29/06/2020	Inspection Date	01/07/2020		
	Survey held at	CITY AUTO PTE LTD				
		BLK 8, SIN MING IND. ESTATE #01-60/62 Sector C SINGAPORE 575643.				
5a.		Re	emarks			
	A)THE INSPECTION WAS CONDUCTED ON A"WITHOUT PREJUDICE" BASIS. B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.					
5b.	. Estimate Days of Repair					
	ESTIMATED NORMAL PERIOD FOR REPAIR: 14 Working Days					



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLC 5184L

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET	BENT	859.00	809.00
2	BONNET HINGE @ \$65.00	TO REPAIR SEE LABOUR	130.00	-
1	BONNET LOCK	TO REPAIR SEE LABOUR	82.00	-
1	FRONT BUMPER	BUCKLED / CRACKED	898.00	858.00
2	FRONT BUMPER SIDE RETAINER @ \$25.00	DISTORTED	50.00	50.00
2	FRONT BUMPER BRACKET @ \$55.00	DISTORTED	110.00	110.00
1	FRONT BUMPER TOP BEAM BRACKET	BENT	95.00	95.00
1	FRONT BUMPER TOP RUBBER	NECESSARY	38.00	38.00
10	FRONT BUMPER RIVET @ \$3.00	NECESSARY	30.00	30.00
12	FRONT BUMPER CLIP @ \$3.00	NECESSARY	36.00	36.00
1	FRONT BUMPER REINFORCEMENT	BENT	395.00	395.00
1	FRONT BUMPER LOWER GRILLE	DENTED	95.00	95.00
1	FRONT BUMPER LOWER GRILLE CHROME	CRACKED	221.00	221.00
1	FRONT BUMPER LOWER GRILLE COVER LH	MISSING	12.00	12.00
2	FOG LAMP COVER @ \$45.00	SERVICEABLE	90.00	-
2	DAYLIGHT LED LAMP @ \$586.00	SERVICEABLE	1,172.00	-
1	FRONT GRILLE	CRACKED	264.00	264.00
1	FRONT GRILLE LOGO	NECESSARY	58.00	58.00
2	HEADLAMP @ \$792.00	MTG CRACKED	1,584.00	1,584.00
1	SUPPORT TOP PANEL	BUCKLED	288.00	288.00
1	SUPPORT TOP GARNISH	BUCKLED	75.00	75.00
6	SUPPORT TOP GARNISH CLIP @ \$3.00	NECESSARY	18.00	18.00
1	FRONT BUMPER LOWER SPLASH GUARD	CRACKED	155.00	155.00
1	REAR RH FENDER	BENT	988.00	895.00
1	REAR RH FENDER INNER TRIM	DEFORMED	223.00	223.00
1	REAR BUMPER	BENT	855.00	855.00
2	REAR BUMPER RETAINER @ \$22.00	O/S CRACKED	44.00	22.00
10	REAR BUMPER CLIPS @ \$3.00	NECESSARY	30.00	30.00
1	REAR BUMPER INNER SHIELD RH	CRACKED	55.00	55.00

Report Ref No. CC6/CTI20006885/Kds3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

	1 age 1402 01 0			
Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR BUMPER REFLECTOR RH	CRACKED	35.00	35.00
1	REAR BUMPER TOWING COVER	CRACKED	27.00	27.00
1	REAR BUMPER REINFORCEMENT	BENT	265.00	265.00
1	REAR END PANEL	BENT	546.00	506.00
1	REAR END PANEL TOP GARNISH	SERVICEABLE	155.00	-
1	EXHAUST END MUFFLER	BENT	453.00	453.00
3	EXHAUST MOUNTING @ \$38.00	TORN	114.00	114.00
1	REAR RH RIM	NECESSARY	750.00	750.00
1	REAR RH KNUCKLE ARM	BENT	485.00	414.00
1	REAR RH WHEEL BEARING WITH HUP	BENT	397.00	397.00
1	REAR RH LOWER ARM	BENT	225.00	225.00
1	REAR RH UPPER ARM	DISTORTED	195.00	195.00
1	REAR RH CONTROL ARM	BENT	166.00	166.00
1	REAR RH SHOCK ABSORBER	BENT	285.00	285.00
1	REAR RH SHOCK ABSORBER TOP MOUNTING	BENT	85.00	85.00
1	REAR CROSS MEMBER	SERVICEABLE	1,007.00	-
1	RH TAILLAMP	BROKEN	455.00	404.00
1	RH BOOTLAMP	CRACKED	455.00	232.00
1	REAR BOOT LOGO	NECESSARY	58.00	58.00
1	REAR BOOT EMBLEM - LANCER	NECESSARY	55.00	55.00
1	REAR BOOT EMBLEM - C&C	NECESSARY	58.00	58.00
1	REAR BOOT EMBLEM - MIVEC	NECESSARY	48.00	48.00
1	REAR RH WHEEL HOUSE PANEL	TO REPAIR SEE LABOUR	685.00	-
	LESS 10% DISCOUNT		-1,595.40	-1,204.30
			14,358.60	10,838.70
	SPECIAL NETT ITEMS			
1	FRONT NUMBER PLATE (SN)	BENT	20.00	20.00
1	FRONT NUMBER PLATE CASING (SN)	BENT	25.00	25.00
1	REAR RH TYRE (@ \$185 DISC 80%) (SN)	CUT	185.00	148.00
1	REVERSE SENSOR (SN)	CRACKED	250.00	200.00
2	STICKER - CARCLUB @ \$120.00 (SN)	NECESSARY	240.00	60.00
1	REAR NUMBER PLATE (SN)	SERVICEABLE	20.00	-

Report Ref No. CC6/CTI20006885/Kds3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR NUMBER PLATE CASING (SN)	SERVICEABLE	25.00	-
1	WINDSCREEN SEALANT (SN)	NECESSARY	40.00	40.00
			805.00	493.00
	LABOUR			
	TO REMOVE AND REFIT REAR WINDSCREEN GLASS.	NOT NECESSARY	150.00	-
	TO REMOVE AND REFIT REAR TRIMS, SEATS, AND UPHOLSTERY.		160.00	100.00
	TO REMOVE AND REFIT REAR SUSPENSION UNITS.		180.00	160.00
	TO CONDUCT WHEEL ALIGNMENT.		65.00	60.00
	TO CHECK WIRING AND LIGHTING.		80.00	40.00
	TO SUPPLY PANEL SEALANT AND TO SEAL OFF ALL WELD SPOT SEAM AND GAPS.		90.00	60.00
	TO SPRAY RUBBERIZED UNDERCOATING.		120.00	60.00
	TOWING CHARGE.		60.00	50.00
	TO KNOCK JACKOUT DAMAGED PARTS, PANEL BEATING, WELDING, ALIGN, REFIX AND TO RENEW ACCIDENT PARTS. INCLUSIVE OF THE REPAIR OF BONNET HINGE, BONNET LOCK AND REAR RH WHEEL HOUSE PANEL.		2,100.00	1,800.00
	SPRAY PAINTING ON AFFECTED & REPLACE PARTS.		2,500.00	2,000.00
			5,505.00	4,330.00
	GRAND TOTAL		20,668.60	15,661.70

RECOMMENDED COST OF LUMP SUM REPAIRS 12,500.00 (TO ITS PRE-ACCIDENT CONDITION)

Report Ref No. CC6/CTI20006885/Kds3s2

KONG SENG CHEONG

Licensed Appraiser